








Level 6/D







Simplifying required.


Exercise 1

Solve these equations.

(1)
4(x + 1) = 12


(2)
3(2x + 1) = 33



(3)      
5(x ( 5) = 50


(4)
2(5y + 2) = 4



(5)
8(x + 1) = 15


(6)    
5(6n + 2) = 35

(7)
3(2c ( 1) = 11


(8)
4(12 ( 2x) = 20



(9)    
7(n + 2) = 2n + 19

(10)
9(e ( 2) = 8(e ( 1)

(11)
7(p ( 3) = 3(7 + p)

(12)
2(s ( 2) = s + 4

(13)
2(k + 2) = k + 6

(14)
4(2t ( 3) = 3t ( 2 


Exercise 2

Solve these equations.

(1)
6(1 + 4x) = 30


(2)
8(c ( 1) = 32

(3)
12(x + 3) = 180

(4)
7(x ( 2) = 30

(5)
3(10 ( 4x) = 12

(6)
5(x ( 5) = 50

(7)
8m ( 26 = 3(3 + m)

(8)
6(a ( 5) = 5(a ( 4)

(9)
4(t ( 6) = 3(t ( 1)

(10)
9(k ( 2) = 5(k + 2)
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Remember to show the steps in your working.
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